CMS anti-k; jet R = 0.3, p‘f‘ > 30 GeV/c, [f®| < 1.6, |n'] < 1.44 VSuy = 5.02 TeV, PbPb 404 pb™, pp 27.4 pb™
"p! D(40,50) GeVic §  p! [1(50,60) GeVic§  p! [1(60,80) GeVic g  p! 0(80,100) GeVic, P! > 100 GeVic ¢
L @ PbPb0-30% _° . o o' e
o/ pp (smeared)a e ¢‘c’> 30. ¢ $8
g _— $ gbst? o4t
o T o) T + $ o
T | ° T ]
. PbPIb 3OI k 1600/0I T T T T T T T T T T T T T T T T T T T T T T T T IH
| 8 pp (smeared) =l a =i ] =N
W = "
& ¥ 8 # . B9
. i‘ﬂ EE$E " !li ¢g$? $ o
i . B ¥ % . 8 ? ¥ 4 g ? 8 T 1' |
| * | T -
05 1156 2 2563 05 115 2253 05 115 2253 05 1152 253 05 1152 25 3
A(%V A(pIV A(ply Aq-}y A(pl\/



	Contents
	Page 1


